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16AL-83
SECTION - A
Analytical Ability
Sang @&ggé
Questions : 75 Marks : 75
BHyeo 175 Srdp 075
(i) Data Sufficiency (Marks : 20)

&ggro’ éc‘gggé

Note :

1 1508 20 H8% B S w8 (@), &= 180&S I, T e thien Ko
otk (D08 Fomr  adgEmoR. QWY Sgrow), &HIrHoW,
a0y &

e ®rm of two
® given in the
data make an

In questions numbered 1 to 20, a question is followed by dajuy
statements labelled as I and II. You must decide whethe
statements are sufficient to answer the questions.
appropriate choice from (1) to (4) as per the following 2%

(a) Mark choice (1) if the statement 1 alone is,s$fTj answer the question.
(b) Mark choice (2) if the statement 1T
(c) Mark choice (3) if both the gtate %

question but neither statemen

uf¥¥ent to answer the question.

11 are sufficient to answer the

0
&nts I and II together are not sufficient to
al data is required.

(d) Mark choice (4) if both
answer the question a
*

€ S

@HE JSdrerad) 3B)odd dorgFren wYE ok Sor
ANgod. &8 Z)g'*éeaé) (80D HrISHE drzren GHBrAOW
48555 %8 wowd warendd JonE ToLod :

$% Ddrerdo aBYodHs BHENo 1 508 Horghoond D ware
(1) e KB oWod.

(B & Sdrerdo gBE)okadh (Pdusdo IT SRS émgézﬁxmé D e
(2) e oBoBok.

() PHS FOrVlaiiNTo) aégod:é: (DdSoren 1, 1T (SR éowgééoom oot
D 2.8 8 Erae durgo 548 D waren (3) e HBoWod.

@ HHS Déraedo ab‘ao&&:éo (PdSaren 1, I $0d Srae dorgHo s°8
0sEYy Sgroko wEHELonE D warew (4) M HgoNod.
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.

If a is an integer and 100 < a < 200, what is the value of a ?
100 <2< 200 oHdr a Yroroddond, a Jewd Jos?

I.  When ais divided by 10, the remainder is 5.
a® 10 & oS, FRdw 5.

II.  When a is divided by 8, the remainder is 3.
a8 & arAoSme, Bhdw 3. [_,,

What is the value of 6 ?
0 D o ?

I. sin?20-1=0

B . ()O 3

What is the area of an equilateral triangle ?

28 b oo 1820z FTogod ?

I Each angle of the triangle is 60°.
(82208 (58 S0 60°.

o\
II.  The height of the triangle is 12 c@ 4 ;4

(B2Hed) A 12 0.2, @

value of a3 + b3 ?
DD o ?

II.  xand y are non-negative real numbers.
X, y oo HBSS 35S Somgen. 3

X P.T.O.
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What is the rate per metre length of the fencing of the rectangular field ?
28 BF B sEY E12708 508 Foherds 2 el LoD v Jod ?
1.  The area of the field is 10,000 sq. metres.

3($% Fwrego 10,000 5.2
II.  The total cost for fencing the field is Rs. 1,00,000.

E[e°08 S0 Jodharnd Iwdo 90 &, 1,00,000. L,_
What is the value of the non-negative integer a ?
SBSE Prgro¥o a Jevd Jod ?
I 3%divides 33886.

33886 % 3% e Anod.
I~ 7*divides 2058. O

2058 % 7% 27 AL0B. () |

Is the set A contained in the set of prime numbers ? @

BB A, werag Dogrg HWBS® Gotoae ?

1. Everyelement of A is a positive real numbegr.
A S (H8 Do dhn w¥ O aRd Do

1
A e {x eR|x < forall positixe ingfg

AQ{XGIRILX)BQS&E’Q)”g‘

Is the real number a, posﬁveQ
0% Dowg a, S sas:v\

L ¢
IL | oYy Z
Isita$S
[$1a)
1 same date in the previous year as a Friday.
(80 DoHSYB0S® oT erdan D|EaE0 Yood.
I.  Itis 1* January 2088. :
@8 20D 1, 2088. 2—-
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11 3

12.

13.

14.

15.

The price of which of the mobile phones A and B is reduced more ?
TS P A 00w B o0& B b &b SRosadod ?

4 The price of A is reduced by 10%.
A 988 10% $hoSwdos.

II.  The price of B is reduced by 12%. L'_
B 0 12% $hosedod.

If a, b and ¢ are distinct prime numbers, is a an even number ?
a, b, c e D) werag Dopgoowd, a dd dowg eHSowe ?
I.  The product of a, b and c is even.

a,b,c © ©20 :f)ospg. O

JI.  The sum of b and c is odd.
b, ¢ © Ao B Dowg.

Are a, b and c in arithmetic progression ?
a,b, ¢ & ©0¥ FIS* Yok ? &
L 5a, 5b and 5c are in arithmetic progression. \
5a, 5b, 5S¢ &0 ©0¥ (FAS® Hmyow.
II.  2a, 3b and 4c are in arithmetigr %

2a, 3b, 4c & wo¥ BRS*H .rc\

Is n divisible by 720 7 & Q
n % 720 g ? \

I nisdivisible nd®30.
25D,
I +2)(a + 3)(a + 4)(a + 5) for some positive integer a 2,
o¥oa¥,n=a(a+1)(a+2)a+3)(a+4)(a+5).
Whatis®: b :
a:b:c oo ?
I ab=2:3

5 P.T.O.
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For integers aand b,isa>b ?
‘f.g)‘gvos"w a,b o¥, a>b eHsoae 7
I. J|a|>b

/§ S - %

What is the value of sin 0 ?
sin 0 Qewd does?
sin® 0 O

L The matrix[ 2 O}is not invertible.
I S

sin® 0 0 " O
(88 P 2.0 2)6%)53')» 57 < |

3.4 1

II. 0 lies in the second quadrant.

0 Bo&® FBoS® Y. &W ‘
L 2
N

Does the natural number n divide 1502 + 8n + G §
15n% + 8n + 6 & Dz Dowg n sy
L n divides 10 *

10 & n gradi. \a

II.  ndivides 3!
. Q.
; 3! & n gre¥o. \
i &

A and B are two sets. What are the elements of B ?

A, B & B0k ddéen. B % drosten o ?

ArBi=11.2,34. 5}

I. A-B={7,8,9,10} Lf‘
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(i)
(a)

Problem Solving (Marks : 55)
Sequence and Series (Marks : 25)

Note : In each of the questions numbered 21 to 35 a sequence of numbers or letters that follow

21.

22.

23.

24.

25.

26.

27.

29.

a definite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four given options to complete the sequence without breaking
the pattern.

58 1 21 5 Soarth od 35 Soadh HBH Ko (HS (HHSEr aDYd dopgen M), w¥oren

M 28 (Ehaghond Jobird) SEpoyow. [©8 (S, o wdd alyd
S aDQs”o Wod V0 wond =W MED, LHIED JoHHrds Foro
SodHoa® Yroowrd.

4 TR L e
(1) 108 ) 148 \,(.a( 259 @) 617 O
3 8 2435 ()
510 '26'37

9 11 13
() 55 13 T 17

.

2+44/5,9+4f5, 161+ 72\[5
(1) 18+16\5 P 38+17\5 (3) 64+ @) 72+64\5

ABDFERH SESES "MNP, QRT

1y beHPEY Wiy DK &a @) JKM
99:120:
M 36 8 3) 50 @ 52

T, WoBEy .

D W F @4 H

5, 10, 26, 50, 1 290, 362

) (3) 184 @) 226
2

2252

‘6 33% @) 36'32; 3) 34% @) 35%
(2,0),(5.3), (10, 8),

(1) 3,11) @) (14,12) (3) (15,13) \((17,15)

7 P.T.O.
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30. BAT, EDW, IHA,

(1) NMG (2) MNF (3) NME ‘6 NMF
31. , IHN, SR\)‘(;BH

(1) YXE 2) YXD (3) XYD 4) YXF
32, ABC ZYX : EFG:; ¥

(1) ECB \4) DCB (3) DCA 4) FCB

3380 25,49, 10, 223,
(1) 36l (2) 256 \6 529 4) 676

34. 1800: 1675 :: 3600 :

1) 3275 @) 3450 VG 1% @) @

sl R |
1 9 2 11 @) 15 4)
Note : In questions 36 to 45, pick the odd thing out.
Bm5% 136 208 45 B8 Ko (D S® HOFF0IB 1KY,
o
36 ). 135 \é) 46 \6) 7\ 4 91
0 B (2) 65 "ﬂ) 216

*
38,4 (1) FHG 2) mb\ RTUS 4) VYXW
39. (1) 80 @ Q (3) 120 vd) 163
40. (1) Bus complexm;l ahall (3) Railway station (4) Aerodrome
B *

Gy e 38 'fgé:éa . e Fodo

(22N 2 3) 2X4 4 276

2Vl ) (2) Eye (3) Ear Vﬁ) Mouth
S50 3D &
43. (1) +1=0 @2 P+3x+6=0
3 2152 v 2-_xeiz=0
4. (1K @ c @ G V@) T

45. (1) VIOLIN (2) VEENA (3) MANDOLIN %) FLUTE

8
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(b) Data Analysis (Marks : 10)

46.

Note for questions 46 to 50 :

Study the following Pie diagram and answer the questions 46 to 50 :
46 - 50 (S50 S

(808 & (Pie) HErd) HORD0D (H)en 46 - 50 0¥ za~Dig0d.

SSondsdy

royaltics o8& ngo

30%

Advertisement

charges ;

~
_—
If the author’s royalties amount to Rs. 30,000, }u the printing charges, how much
will be the amount for advertisement chgrges

@ pinye o8 SBonddRy & 0,000 &r. D% Dowd, [HEGDO PLY
N0 ?

(I) Rs.60000 (2) ﬁ@ (3) Rs.75000 WA Rs. 90,000

What is the angle of t rg)r miscellaneous charges ?
add pino o 7
(1) 1613 2) 7°24 ‘6) AL 4) 6°12

If the co
total expenditure incurred in bringing out the book is (in rupees)

S*NSHY, e PE© Iwdo 70,000 . wond, VY (HDSnschy Iwdo P
(Srrahes®)

f the paper and the transportation put together amounts to Rs. 70,000, then the

(1) 6,00,000 %) 5,00,000 (3) 5,40,000 (4) 4,50,000

9 P.T.O.
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49. The miscellaneous charges amount to Rs. 10,000 and a total of 13,000 copies of the book are

printed. What is the cost of each copy at which the book must be priced, if the publisher
desires a profit of 4% ?

388 pdpe 10,000 &r. ), 13,000 (HSHen WWBoE wEOTro. (HHHES 4%
ergfo Trare S HE 0B, HYED 3o Jod ©d Igowowd ?

vﬁ) Rs. 40 (2) Rs.36 (3) Rs.52 (4) Rs. 48

50. If the transportation charges are reduced by half, then how much is the saving if the binding
charges amount to Rs. 60,000 ?
Sarer BN DKo SN0WE 0B, Bodoh Fden 60,000 & ®ond, 2o o wor
wYod ?

(1) Rs. 15000 (2) Rs.30,000 (3) Rs. 25,000 Vé) 00!

Note for questions 51 to 55 :
In the bar diagram given below, the frequency distribution of work®gg# a factory is given
according to the number of dependents they have. Answer quesgfo! 0 55 basing on the data

given in the bar diagram :

51- 55 B4 08 S8
% ‘(ooapsob @ & (808 w6
0. W 28 Do’ aN)d drorody

2.8 ém&mdoé“ O BD 0 orew, T 0L
H00S* & DY Y Fsddy rado ARG
@80 BRE (Do 51-55 0 2arDde

[ A
& Literate Workers
©Eomdg DI
Illiterate Workers
"""" VBZo=dg Barh
51. Al number of workers in the organization is
ORS® HY FD 0 o dowg
@ —0
1) 180 \6) 200 (3): 230 (4) 300
52. The ratio of literate workers to illiterate workers is
©F0edg B &, ABFodg DGO A&
()2 E 20 @) 20:21 3) 21 1 2 (@) 19321

10
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53.

The number of literate workers with atleast 3 dependents is
EIH0 Bty BEed HAD ToUN), FuigS He HAF0 dowg

(1) 50 (2)2155 (3)3165 \A) 45

54. The total number of dependents that all the workers have
Bogn ST HoP BErddd &0 Dopg
\/ﬂ ) 560 (2) 650 (3) 580 : @) 540
55. What is the percentage of illiterate workers among the total workers ?

(c)

56.

58.

Swedn HAer0S® ET g TE0 od?

(1) 48 vé) 47.5 (3) 485 ) 52.50

Coding and Decoding 0 (Marks : 10)
Note for questions 56 to 60 : @

In a code, the n® letter in English alphabet 4 ° K% Jetter, where
K = 3n + 2(mod 26), 1 < K £ 26. For example ; letter I is coded as C,
since 3 X 9 + 2 = 29 = 3(mod 26) and C is the gird hereverse of this process is

used for decoding. Based on these coding and
56 to 60.

56 - 60 (S 0% JrES
<
K =3n + 2(mod 26), | <K < ofidy ©EB8%res® n S efoed), K

w¥lorr §& JyH. soodrd 80 1% 3 % ofo C m §& IJ-&.
Doo¥oB 3x9+2=29= g 5D ASTH (DB & §°8 Todvardd arard.
& §°Goh, & §'&oh @’a@ﬁ SIRrAGD (D o0 56-60 ©% mardigod.

ocesses, answer the questions

(3) CKQK Vi cka

(1): . SIEEY] (2) SORRY \6) FULLY (4) PETTY
The word coded as GJEIQ is

GIEIQ r~ §°& Fahaadd do

(1) STATD 'Vé) STATE (3) STBTE (4) STATF

11 P.T.O.
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59, The word coded as DENCU is
DENCU r §°6 So%add Hio

%1) RADIO (2) DANCE (3) RADIC (4) DELHI

60. The word coded as KUOXMIQD is
KUOXMIQD e §°& Pobadd Hko

(1) COMPLEXS ‘6 COMPUTER (3) COMMENCE (4) COMPLETE

Note for questions 61 to 65 :

The vowels of the English alphabet are arranged alphabetically and among the uls. the 1
vowel is coded as (r + 1) vowel and the last as the first. The consonants of, i

are arranged alphabetically and among these consonants, the ' conso grd ¢
consonant and the first as the last. For decoding, the inverse process is llowg®: Basing on these
coding and decoding processes, answer questions 61 to 65.

61 - 65 Byols Jris

20f% VEEEreS™) eunod eFE HED (BN §: UNOS' 1 H olyd
@+ 1) $ oS, D0 6D Iwde @6@ 0&. 30fidy v¥8 o™
Frened w58 BEOIEDS’ vid), & e (r-1) & Sreomd, s

Srendd VDO e &8 Fovod. & §°ah8, S @Lgo‘b‘é: JBoB0d. S8 ASH
?&oﬁ 00 c% Sfeteta] @@Qﬁo:& iy DED, 61 LoD 65 P Ko (HH o

JSdrgroro (@rodod. \
61. The code word for CRI
CRICKET & §°G 3¢50 Q
(1)) BQOBIAS BOOBJAU BQOBIIS (4) BQOBJAV

2s&ORBUTIQ ?
Q m §°& Sovadod ?
E (2) DISPLACE (3) DISPLAYS \6 DISCOVER

62. Which word is

63. e word for EVEREST is

REST % §'& dd0
\A) ITIQIRS (2) ITIQIRV (3) ITIQERS (4) ITIQITS
64. The code word for ENERGY is

ENERGY & §°6 b0
(1) IMIQHZ (2) IMIQHX (3) IMISEX \6 IMIQEX




16AL-83

65. Which word is coded as QEMFIQ ?
2 HS50 QEMFIQ > &5 Soverdosd ?

(I) RANGES Vé) RANGER (3) PILGOP (4) SANGES

(d) Date, Time & Arrangement Problems (Marks : 10)

66. If the first day of a month is a Sunday, then the date of the Monday that comes after the
second Saturday of that month, is

a8 S0’ WES e wdrdo wond, © IoS® Fokd $darS0 & )

Jpardo g 86
)y -8 2) 9 (3) ““15 \/ﬁ) QQ

67. In aleap year, if January first is a Tuesday, then March second of that Ils on

a8 O VodEYEoS® wbkd Fnse B8 LoXgEo HEYFoS* Hr)
Gods 86 wdly 8%

\/6) Sunday (2) Monday (3) Tuesda 4) Saturday
(ElaYvilofol S0 ST Sefe 380

68. Fifteen years ago the ages of a mother an%ter were in the ratio 6 : 1. If the

present age of the daughter is 20 years, th er’s age, in years, after 5 years from

now, is

15 Joddyore (Bode a¥ &9 %o Hoduyen 6 : 1 A 8S* I 0.
Erddh (B Doy 20 Dg wond, adyisod 5 DodEyore SHard &
39 éo)’s“:oag, oD kg

1) 40 @ 4\ Vi s @) 55

N g
69. The number of way anging 4 men and 5 women alternately in a row so that the row

Boto DS &y &od ASormd, (58 agd o g 2.8 YAoRotk
0 HKoEn DB &K Q9O ©REHONS Ao Sowg

(2)! 720 \é) 2880 (4) 3600

70. Five persons A, B, C, D, E are sitting around a table such that D is in-between A and B.C
is in-between A and B. Then the person sitting between B and D, is

ASE8DdgD, A 8B 80 C ol ot #%es A, B, C, D, E 8 23
zﬁ:t‘a’w‘ 80 Gy . @é;pcio B&DS§ &xﬁg §7°5°326l ég_%n
1 A @ c @) D 4) E

13 P.T.O.
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71. The number of times that the hours hand and minutes hand of a clock coincide in a day, is
0¥ Berd® uf KBOEOSTD Hobe Hwey OOH JdwEwe Dwe I8PDT
DoarSwe Sowg

Vﬁ) 22 (2).,.23 3) 24 “4) 26

72. A person M starts walking from a point P straight towards East. After walking 100 feet he
turns to left and walks 45 feet straight. He again turns left and walks a distance of 60 feet
straight. Then he turns to the left and walks a distance of 45 feet. The distance between M
and P in feet, is

M o3 $g8 o8 Dok P od &rdy) SHL 8y Sesdgo el N ¥ 100
wdotben HEDE SHhard wsd D SHIH 30H S 45 o4 SRV
w8k DO DI 80N BH 60 Vo DEVTD. AeRy
&S 800 45 edibe drdo SEDTE. M b P RH

wdpes®
(1) 60 (2).. 55 (3) 45 ) 40

Gy o Srdo,

73. Pointing to a woman, a man said “The son ¢ r is the brother of my wife”.
How is the woman related to the man ?
28 9 BYH BrYHdr w8 HHD 3 A% ‘e B8 BB § B, o0 ¢y
FBBH.” © HERNE © 9 Teo d?
(1) Grand mother \ Sister
@0y / SO 850
(3) Mother-in-law * V5. sistelo fathcr-in-Taw

wémd S0 IS

74. fined by the equation x % y =2x+ y forall real xand y. If 2 *a = a * 3,

*3 eond, a o) Jend
(1) -1 2 o (3)rrid 4) 4

75. The number of 3 digit positive integers that leave the remainder 5 when divided by 7, is
7 3 erAoddpd 5 & Fdorr 3T e Fribswen EORS Sord¥ rorosto
(ooaps g '
a 142 @ 141 \(/3) 129 @) 128
14
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SECTION -B
Mathematical Ability
fe3d dogsd
Questions : 75 : Marks : 75
($%yo0: 75 Srdp 0175
(i) Arithmetical Ability (Marks : 35)

T A
76, 168 449 =

(hEL1g %) 13 3 3 (4) O

Fap
3

61] &ai 6
77. 2 b l lab =
az—b2
. Jop ond
(1) Va+yb (2 2+b % Jé (ab)3
78. If 81y = (243)y ,then 4x + 5y =

(81)"-(243)y ®oNd, 4x+5y= t\
(3) .2 Vé 0

3)7 .59 (4)%.9:=5
H {ﬁﬂ/_ T
N BN PN 7+\/_
\/(1) L @) s B) (14+410)° @) (12+235)°

15 B.T.0.
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The details of investment of three persons X, Y, Z in a common business are given below.
Out of a profit of Rs. 900, the share of X in rupees is
AR A2 ég_e‘g:c» 28 6&0&& vsﬁ"doé‘b '&)%:mém) DHTEN LéocS aész)g“o.». 900 8.
erefoS® X arer Sraroved’.
X Y Z

amount in Rs.

o Er .o 6,000 | 7,000 | 6,400

time in months

s*o0 Jvod® 2 4 5
M 110 V) 150 @) 350 @
A train running at a speed of 90 kmph takes 20 seconds to cross length 150 m.
The length of the train in metres is
Kot 90 3.5, 308 b 28 e 150 . Ko D085 T80%%
20 DEo HA8 © Bew PEY WIS

\A) 350 2) 100 (3)ieS 4) 45
*

The least positive integer that leaves remaindegs an®l 53 respectively when divided |
by 36, 48 and 64 is
36, 48, 64 ©F 2ROV PEIMT 25, oo AT ¥R Prgrodo
(1) <976 2) 574 ’ 567 4) 565
The least integer value of g is an even integer is

54

3 20 Dowg s‘av Q} U ogycrvoé Dend

(1) 1 (2) o sk @ 3
AandBc in 12 days; B and C in 15 days; C and A in 20 days. The number of
days reqay 1 the three together to complete the work is

& e 12 Fereosthr, B, C o 15 Ferod®r, C, A e 20 Seros®
8. A, B, C o0 $wihodr Sod o H rg Bohrie Seren

(2) 20 @) 16 4) 10

An article is sold at a profit of 20%. Had it been sold at a profit of 25%, it would have
fetched Rs. 35 more. The cost price of the article (in rupees) is

2§ EH® 20% orerdd e, od SH% 25% orerdd oy God 35 &
End orgfo HTRB. © HHY §'¥) S0 (Srarones®)

(1) 650 (2) 700 (3750 4 800

16




